BOOKLET NO. 092

DO NOT OPEN THIS TESTA BOOKLET UNTIL YOU ARE ASKED TO DO SO -

TBC : YRS(AP)(CC)T&T-2018

Time Allowed : 2 Hours] _ [Maximum Marks : 100

. INSTRUCTIONS

1, IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU
SHOULD CHECK THAT THIS BOOKLET DOES NOT HAVE ANY UNPRINTED OR
TORN OR MISSING PAGES OR ITEMS ETC. IF SO, GET IT REPLACED BY A
COMPLETE TEST BOOKLET. _

2 You have to enter your Roll Number on the Test Booklet in
the Box provided alongside. DO NOT write anything else on
the Test Booklet.

3. This Test Booklet contains 100 items (questions). You will select the response which you
want to mark on the Answer Sheet. In case you feel that there is more than one correct
response, mark the response which you consider the best. In any case, choose ONLY ONE
response for each item.

4. You have to mark all your responses ONLY on the separate Answer Sheet provided. No
erasing/correction fluid is allowed. ' '

5. All items carry equal marks.

6. Before you proceed to mark in the Answer Sheet the response to various items in the

Test Booklet, you have to fill in some particulars in the Answer Sheet as per instructions
sent to you with your Admission Certificate.

i After you have completed filling in all your responses on the Answer Sheet and the examination

has concluded, you should hand over to the Invigilator only the Answer Sheet. You are

permitted to take away with you the Test Booklet. ‘

Sheets for rough work are appended in the Test Booklet at the end.

Penalty for wrong answers : :

THERE WILL BE PENALTY (NEGATIVE MARKING) FOR WRONG ANSWER

MARKED BY A CANDIDATE IN THE OBJECTIVE TYPE QUESTION PAPERS.

@) There are four alternatives for the answers to every question. For each question
for which a wrong answer has been given by the candidate, one-fourth (0.25) of
the marks assigned to that question will be deducted as penalty.

(@) If a candidate gives more than one answer, it will be treated as a wrong answer
even if one of the given answer happen to be correct and there will be same penalty
as above for that question.

@) If a question is left blank i.e. no answer is given by the candidate, there will be
no penalty for that question.

10. Use and carrying of Mobile Phone and Electronic Gadget is prohibited in the Examination

Hall.
5 In case of any discrepancy found in English and Hindi Version in this paper, the English
Version may be treated as correct and final. ‘ ‘ '

- DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE ASKED TO DO SO
| 1 P.T.O.

©




i
When tourism generates money that is not spent in the region, it is

called :
(A) Multiplier effect (B) Leakages
(C) Pilferage (D) Transference

One of the most common measures of the economic impact of tourism is

called :
(A) Comparative advantage (B) Input-output matrix
(C) Strategic influence (D) Output multiplier effect

One of the most important factors influencing the level of international

tourism activity is :
(A) Democratic governments (B) Infrastructure development
(C) Promotional activities (D) Exchange rates

The practice of a society, its beliefs, social roles, and material objects that

are passed down from generation to generatibn are called :
(A) Society ' A (B) Host community
(C) Culture (D) Host practices

Which of the following is not an element in determining carrying

capacity ?
(A) Physical capacity | (B) Economic capacity
(C) Environmental capacity - (D) Ecological capacity
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6.  Researchers typically estimate the level of tourism. activity by :

(A) Multiplying the estimated number of arrivals to a destination by the

average expenditure per visitor
(B) Multiplying the number of tourists bjr the annual tourism budget
(C) Dividing the number of visitors by the annual tourism budget

(D) Multiplying the average number of visitors by the daily expenditures

level per visitor

7. The worldwide organization established to preserve historic cities and

natural and cultural properties is :

(A) UNESCO ~ (B) PATA
(C) UNICEF (D) UNWTO
8. A cruise ship’s equivalenf to a ﬂeor or story in a hotel is called a :
(A) Floor plan o (B) Destination .
(©) Deck D) Promenade
B. Manas National Park is in :
(A) Rajasthan ‘ : - (B) Assam
(C) West Bengal (D) Bihar

10.  “The Soul of Incredible India” is the tagline of which state ?
(A) Odisha (B) Madhya Pradesh

(C) Rajasthan (D) Andhra Pradesh
'TBC : YRS(APY(CC)T&T-2018 4
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11.

12.

13.

14.

15.

16.

All of the following services are priced separately on most cruises e;ccept :
(A) Spas | (B) Beauty salons

(C) Shows _ (D) Shore excursions

Which Indian city has recently been included as a World Heritage City ?
(A) Jaipur | (B) Varanasi

(C) Delhi (D) Ahmedabad

Which state has won the ‘Best Tourism State’ National Award-2017l ?
(A) Kerala - | B) Goa

(C) Madhya Pradesh (D) Rajasthan

Which one of the following is not included in the original conceptualisation

of Incredible Indid ?

(A) | Adventure (B) Cuisine

(C) Diversity (D) Mystic

Gond tribal are found in :

(A) Madhya Pradesh (B) Rajasthan

(C) Andhra Pradesh | (D) Odisha

Which of the following is not a popular destination for Slum Tourism ?
(A) India " (B) Brazil

(C) China (D) South Africa

TBC : YRS(AP)XCC)T&T-2018 .- 6
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18.

(-

20.

21.

India crossed 10 million Foreign Tourist Arrival (FTA) mark in the year :
(A) 2014 (B) 2015
(C) 2016 * (D) 2017

Arrange the following countries in order (highest to lowest) in terms of

FTAs :
(A) France—Spain—China—US (B) France—US—Spain—China
(C) Spain—France—US—China (D) US——Chiha——France—Spain

In which of the following countries there is no train service ? Buses are used

for surface transport :

(A) Iceland (B) Argentina

(C) Japan (D) Taiwan

Urs of Khwaja Moin-ud-din Chisti is celebrated in the city of :

(A) Auahabaé (B) Aurangabad

(C) Ajmer (D) Aligarh

When Thomas Cook organized the first group tour, he was serving as a(n) :
(A) Travel Agent (B) Intermediary

(C) Meeting Planner (D) Conductor

TBC : YRS(AP)(CC)T&T-2018 8
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22.

23.

24.

25.

9.

217.

Which of the following statements does not define an eco-téurist e
(A) Visits natural environments

(B) Focus on learning and appreéiatioh of nature

(C) Travels in small groups only

(D) Activities are not harmful to the nature

How many districts are there in Himachal Pradesh ?

(A) Twelve (B) Thirteen

(C) Fourteen | (D) Fifteen

District Bilaspur in Himachal Pradesh has a namesake district in :
(A) Rajasthan | (B) | Madhya Pradesh

(C) Bihar w o (D) Chhattisgarh

Which group of travellers is considered to be the backbone or “bread and

butter” of the tourism industry ?
(A) Leisure travellers (B) Government travellers
(C) Mature travellérs (D) Business travellers

Darcha Padum trek is in :

(A) Himachal Pradesh | (B) Leh

(C) Arunachal Pradesh (D) Tibet
The hub-and-spoke system is used prima_rily by :

(A) Regional/commuter airlines (B) Low cost airlines

(C) Legacy airlines ‘ (D) Charter airlines

TBC : YRS(AP)(CC)T&T-2018 10
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28.

29.

30.

31

32.

Grouping tourists on how they live, their priorities and their interests is

called :
(A) Benefit segmentation (B) Demographic segmentation
(C) Psychographic segmentation (D) Geographic segmentation

All of the following are push factors in tourist motivations except :

(A) Desire for escape (B) Rest and relaxation

(C) Health and fitness D .Historic sitesv
Frequent-flier marketing programs were initiated by |

(Aj American Airlines (B) South-west Airlines
(C) Ryan Air : (D) Singapore Airlines

The rural tourism village “Raghurajpur” is in :

(A) Odisha | | (B) West Bengal

(C) Rajésthan | (D) Uttar Pradesh

Tourism is the temporary movement of people to ...oc.cevveneeeennnn, outside their
normal places of ............................., the activities undertaken during their stay
11 thoSe wimimsiss s , and the facilities created to.cater to their needs.

(A) resorts; residence; resorts
(B) destinations; work and residence; destinations
(C) locations; travel; locations

(D) places; normal routines; places

TBC : YRS(APXCC)T&T-2018 12
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33.

34.

35.

36.

37.

What is the tagline of Himachal Pradesh tourism ?

(A) Vibrant Himachal (B) Incredible Himachal
(C) Unforgettable Himachal (D) Enchanting Himachal
Airlines form ...........ccocoevmvevveeiivnnn, with other airlines (carriers) to provide

seamless travel across states, countries, and continents.
(A) Strategic alliances
(B) Developmental delivery systems

(C) Cooperatives

(D) Consortiums

- What is the theme for World Tourism Day 2018 ?

(A) Sustainable tourism — A tool for development
(B) Tourism — A tool for peace and dialogue among civilisations

(C) Tourism — Linking Cultures

(D) Tourism and the digital transformation

The most ,s._tructured type of tour and usually the most ’complete in the -

. components includes :

(A) Hosted tours . ' (B)  Escorted tours

(C) Total tours (D) Exclusive tours

‘The first credit card was introduced for travellers by :

(A) American Express | (B) Visa

(C) Master Card » T (D) Diners Club

TBC : YRS(AP)(CC)T&T-2018 14
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38.

39.

40.

41.

42.

In India, when is the National Tourism Day celebrated ?

(A) November 25 (B) January 25

(C) March 25 (D) October 25

The Grand Tour participants usually foundA themselves visiting 3

(A) France, Italy and Germany

(B) England, Belgium and Switzerland

(C) England, Switzerland and Germany

- (D) England, Germany and Russia

According to ‘Gray’, tourists can be classified as : |
(A) Business and Leisure (B) Medical and Wellness
(C) Sports and Adventure ° (D) Wanderlust and Sunlust

Which railway station ‘was recently adjudged the most “Tourist Friendly

Railway Station” ?

A) J aipur Railway Station

(B) New Dellhi Railway Station

(C) Ujjain Railway Station

(D) Vishakhapatnam Réilway Station

Name the campaign which looks at bringing an attitudinal change in the

minds of people with respect to the way they interact with tourists :

| (A) Padharo’mere des (B) Atithi devo Bhava

(C) Incredible India | (D) Honourable tourism campaign

TBC : YRS(AP)(CC)T&T-2018 16
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43.

Which year did the Government of India come out with its first ever pelicy

on tourism ?

- (A) 1982 (B) 1983

44.

45

48,

47.

(C) 1984 | . (D) 1985

According to Ministry of Tourism, how many tourism regions is India is

divided into ?
(A) Two (B) Three -
(C) Four : (D) Five |

Which state government won the “Swatchata Award” during the last national

tburism award ceremony ?

(A)‘ Telangana - : (B) Andhra Pradesh

© OCujarst o (D) | Jammu and Kashmir

Featu;'es that are unique to é' destination, product or a service are known
as : | N |

(A) Corﬁpetitive advantage | (B) Targeting

(C) Unique Selling Proposition D) Positioning

Which kind of tourism is synonyms.with MICE tourism ?

(4) Rural tourism (B) Medical tourism

(C) Farm tourism _ - (D) Business tourism -

TBC : YRS(APXCC)T&T-2018 - 18
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48.

49.

50.

51.

52.

ICBP stands for :

(A) Indian Culture and Promotion Bureau
(B) Indian Convention and Promotion Bureau
(C) Indian Confereﬁce and Promotion Bureau
(D) Indian Companies and Promotion Bureau
M Visa is granted to which type of tourist ?
(A) Tourist from middle east

(B) Medical tourist

(C) Business tourist

(D) Tourist seeking multiple entries

Which state of India had the maximum number of domestic visitors for the

year 2016 ?

(A) Tamil Nadu | (B) Rajasthan

(C) Madhya Pradesh (D) Karnataka
“Where it all begins” is the slogan of":

(A) Greece (B) Turkey

(C) Egypt (D) Morocco

A common test in research demands much priority on :
(A) Reliability , (B) Usability

(C) Objectivity (D) All of these

TBC : YRS(AP)(CC)T&T-2018 20
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53.

54.

85.

6.

Which of the following statements is true of a theory ?

"~ (A) It most simply means “explanation”

(B) It answers the “how” and “why” questions
(C) It can be a well-developed explanatory system
(D) All of the above are correct

There is a set of temples in Central India where part of the worship involves
serving snakes. The researcher wants to find out why the people visiting these
temples do this and how they feel and think about it. In this case, the primary

purpose of the study is :
(A) Description (B) Influence
(C) Exploration (D) Prediction

In which of the following non-random sampling techniques does the -
researcher ask the research participants to bidentify other potential research

participants ?
(A) Snowball sampling (B) Convenience sampling
(®) Purposivew sampling (D) Quota sampling

Safe and honourable tourism aims to strengthen which critical pillar of the

National Tourism Policy ? |

(A) Swagat (B) Suraksha

O Suvidke . ' ) Boochane
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57.  Which of the following are considered tourists ‘7
(A) Foreign airline and ship crew on stopover in a country
(B) Diplomats
(C) Members of the armed forces
(D) Border workers
58.  Which comes ﬁrst, theory or research ?
(A) Theory, because otherwise you are workiﬂg in the dark
(B) Research, becaﬁse that’s the only way you cén_ aevelop a theory
(C)‘ It depends on your point of view

(D) The question is meaningless, because you can’t have one without the

other
59. A deductive theory is one that :
(A) Allows théory to emerge out of the .data
(B) Involves testing an explici‘tly defined hypothesis
(C) Allows for findings to feedback inté the stock of knm.)vledge
(D) Uses qualitative methods whenever possible
60. Another narﬁe for a Likért' Scale is a(n) 3
(A) .Interview protocol (B) Event sampling 1

(C) Summated rating scale (D) Ranking scale
TBC : YRS(AP)(CC)T&T-2018 24
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61.

62.

63.

64.

65.

A reasoning where we start with certain particular statements and

conclude with a universal statement is called :
(A) Deductive Reasoning (B) Inductive Reasoning

(C) Abnormal Reasoning (D) Transcendental "Reasoning

Approximately what percentage of scores falls within one standard deviation

of the mean in a normal distribution ?

(A) 34% (B) 5%

(C) 68% D) 99%

Which of the following is not a Cohen’s classification of tourists ?
(A) Drifter | (B) Explorer

(C) Wanderer | (D) Organized mass tourists
Which of the following is likely to influence tourism demand ?
() Economic factors

(i) Pplitical factors

(Zii) Technological factors

(iv) Individual factors

(A) (@), (@) and (iir) (B) (@), (ii) and (iq)

©) G, Gii) and o) (D) All of these

Which one of the following is a categorical variable ?

(A) Age | : (B) Gender

(C) Income (D) Height
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67.

68.

69.

70.

Which of the folléwing is é supply side data for tourism ?

(A) Employment : (B) Tourist arrival

(C) Visitor satisfaction (D) Toﬁrist expenditure

Country Potential Generation Index (CPGI) is :

(A) The capébility of a country/regioﬁ to generate trips in relation to tourism.
(B) The likelihood to travel in relation to tourism.

(C) The percentage of the total population that takes at least one tourism

trip over a specific period of time.

(D) The measure of average number of trips taken for tourism purpose.

Which is the largest hotel chain in the world ?

(A) Hilton Worldwide | (B) Home Inns

(C) Intercontinental Hotel Group (D) Marriott International
Which of the following is not a type of a passport ?

(A) Ordinary Passport (B) Extra-ordinary Passport
(C) Diplomatic Passport (D) Official Passport

When each member of a population has an equally likely chance of being

selected, this is called : -

(A) A non-random sampling method
(B) A quota sampling

(C) A snowball sampling

(D) An equal probability selection method
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71. Which of the following‘ is the right sequence in case of Destination Life
Cycle ? '

(A) Introduction—Maturity—-—Growtﬂ-—Saturation
(B) Introduction—Saturation—Growth—Maturity
(C) Introduction—Growth—Maturity—Saturation
(D) Introduction—Growth—Rejuvenation—Saturation

72. How many Freedoms of Air are there (reference to Civil Aviation) ?

(A) Nine | (B) Eight

(C) Seven | | .(D) Six
{1 T ———— is not a DMOQO ?

(A) RTO (B PTO -

() LTO D) NTO

74. Find the odd-man out :

(A) Museums (B) Beaches

(C) Hill stations (D) Backwaters
75.  Which is the most visited attraction in the world (2017) ?

(A) Disney Land, Tokyo (B) Taj Mahal, Agra

(C) Notre Dame Cathedral, Paris (D). Grand Bazar, Istanbul
76.  Which of the following is not an International body ?

(A) IATA ~ (B) PATA

(C) IATO (D) WTTC
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1.

78.

79,

80.

81.

82.

Find the odd man oﬁt g

(A) TGV (B) Heineken

(C) Shinkansen (D) Trenitalia. Frecciarossa
Find the odd inan out :

(A) Kathakali | (B) Kughipudi

(C) Kathak (D) Kutiyattam
Which is the only Mixed World Heritage Site in India ?
(A) Khangchendzonga National- Park, Sikkim

(B) Khajuraho Group of Monuments, Médhya Pradesh
(C) Mountain Railways of India

(D) Rani-Ki-Vav (the Queen’s Stepwell) at Pataq, Gujarat
How many World Heritage Sites are there in India ?

(A) 35 (B) 36

- (C) 37 (D) 38

Awa, Gaj and Harla streams. are the tributaries of river :
(A) Ravi - (B) Chenab

(C) Yamuna (D) Beas

In which region of H.P. is Miyar Glacier ?

(A) Bharmaur Valley (B) Lahaul Valley

(C) Chandra Valley | (D) Bhaga Valley
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83.

84.

85.

86.

87.

88.

Who is the leader of opposition in the present H.P. Vidhan Sabha
(March, 2018) ?

(A) Thakur Ram Lal (B) Mukesh Agnihotri
(C) Virbhadra Singh (D) Harshwardhan Chauhan

According to 2011 census which District of H.P. recorded the highest

percentage of Scheduled Castes population ?
(A) Mandi | (B) Kangra
(C) Shimla (D) Solan

With which ancient sage is Jamlu Devta of Malana village of Kullu District

of H.P. associated ? .

(A) Parashar - : _ (B) Véshishth

(C) Bhrigu (D) Jamdagni

In which district of H.P. is Daranghati Sanctuary situated ? |
(A) Shimla (B) Solan

(C) Sirmaur (D) Bilaspur

" What is the architectural style of Bijli Mahadev temple situated in Kullu

District of H.P. ? |
(A) Pagoda " (B) Pent roof
(C) Domed (D) Flat roofed

With which royal court were painters Mangu, Banwari and Ghali

associated ?
(A) Guler : (B) Kangra

(C) Chamba . (D) Arki
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89.

90.

91.

92.

93.

94.

Who was the first chairperson of H.P. State Commission for Protection of

Child Rights ?

(A) Kusum Vohra (B) Puja Sharma

(C) Shyama Dogra (D) Neeru Vaid

Which princely state owned the Bantony building of Shimla and uséd it as

summer palace ?
(A) Patiala | . (B) Kapurthala
(C) Sirmaur (D) Tharoach

When was Muslim Personal Law (Shariat) Act, which deals with the practice

of polygamy among the Muslims, passed ?

(A) 1928 . (B) 1937

(C) 1948 (D) 1974

Who is’ the Chief Economic Advisor of Government of India (March, 2018) ?
(A) - Urjit Patel " (B) Subramaniam Swamy

(C) Aﬁind Subramanian - (D) N.XK. Singh |

Which of the following cities is not on the bank of the Ganges ?

(A) Patna - (B) Kanpur

(C) Lucknow (D) Varanasi

Which Day is observed as Hindi Day in India ?

(A) March 21 (B) April 22

(C) September 14 (D) October 16
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95.

96.

97.

98.

99

100.

In which city of north India is Rajasansi airport ?
(A) Ludhiana , (B) Amritsar

(C) Ambala _ (D) Jammu

" On the bank of which river is New York city ?

(A) Mississipi (B) Missouri
(C) Seine (D) Hudson

Which organisation rendered humanitarian assistance in the case of 39 Indians

who were taken hostage at Mosul (Iraq) in June, 2014 ?

(A) Red Cross (B) Martyrs Foundatidn

(C) Amnesty International (D) Human Rights Commission
Which country’s parliament is called Majlis ?

(A) Afghanistan ~ (B) Iran

(C) Iraq (D) Syria |

Which global agency mediated in the signing of Indus Water Treaty of 1960

between India and Pakistan ?
(A) UNO (B) WTO
(C) World Bank (D) Internationél Court of Justice

What is the proposed venue of 2018 Commonwealth Games ?

(A) Sydney | (B) Melbourne

(C) Gold Coast (D) Perth
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